[0.54]
7.0
3.8 )
[0.15] Y ——— [0'28] !
- — L 6.6
i | .\ | . | [0.26]
l I

@Profile view without tire
Scale 3:2

@Front view without tire (actual size)
Scale 1:1

A Fits 3 mm D-shaft.
2. To get the specified scale, select 100% in print settings.

Q Isometric view

2 Scale 3:2

2.4
[0.10]
! y g 310
i [1.22]
3.1
? [0.12]

1 Front view with tire (actual size)
Q Scale 1:1

https://www.pololu.com/product/1087
Name: Item number:

Pololu Wheels 32x7mm 1087, 1088

Drawing date: Dev Co\f/g:dOla “ POIOIU

12 September 2019 . y
Units:  mm Material: Robotics & Electronics

[in] ABS & silicone © 2019 Pololu Corporation



8.6
034] .
[3 8] | P [0.27]
0.15
l l
ot : 0. 26]
@Profile view without tire
Scale 3:2
36.5
@ [1.44]

@Front view without tire (actual size)
Scale 1:1

A Fits 3 mm D-shaft.
2. To get the specified scale, select 100% in print settings.

W

@ Isometric view
Scale 3:2

25
[0.10] ‘
!
= @ @[1053]
@[03'102]

@Front view with tire (actual S|ze)
Scale 1:1

https://www.pololu.com/product/1452
Name: Item number:

Pololu Wheels 40x7mm 1452-1454

Drawing date: Dev Co\f/g:dosa “ Po I o I u

12 September 2019 . y
Units:  mm Material: Robotics & Electronics

[in] ABS & silicone © 2019 Pololu Corporation



P

0.43
50 [ ] 6.6
[0.20] ? [0.26]
! — 8.0
V|’ I | ‘| I [0_31]
< A |

r [ ‘ ]
Profile view without tire Isometric view

@ Scale 1:1 @ Scale 1:1

£\ 2x9) [0?512]

25
[0.10]
Y HPolelu
A i <O @ 60.0
i [2.36]
3.1
? [0.12]
@Front view without tire (actual size) @ Front view with tire (actual size)
Scale 1:1 Scale 1:1
. https://www.pololu.com/product/1420
Fits 3 mm D-shaft. Name: Item number:
Mounting slots fit #2 and M2 screws. Pololu Wheel 60x8mm 1420-1424
Intended for #4-40 and M3 screws. Drawing date: Dev code: “ Po I o I u
12 September 2019 w3d03a . y
To get the specified scale, select 100% in print settings. Units: mm  Material: Robotics & Electronics

[in] ABS & silicone © 2019 Pololu Corporation



P

11.0

5.0 [0.43] 6.6

[0.20] [0.26]
! e — 8.0
Vl I ] | [0_31]
I [ ‘ T
@Profile view without tire @ Isometric view
Scale 1:1 Scale 1:1
I .y !
/3\ x29 [0.12]
24
[0.10]
\\ §§
Y HPolelu
A = ;s 660 2/ 5 700
[2.60] I [2.76]
3.1
? [0.12] % %
12.7
[0.50] ! 1
@Front view without tire (actual size) @Front view with tire (actual size)
Scale 1:1 Scale 1:1
. https://www.pololu.com/product/1425
Fits 3 mm D-shaft. Name: Item number:
Mounting slots fit #2 and M2 screws. Pololu Wheel 70x8mm 1425-1429
Intended for #4-40 and M3 screws. Drawing date: Dev code: “ P I I
15 g;_ptember 2019 v w3d04a . o o u

To get the specified scale, select 100% in print settings. Units: mm  Material: Robotics & Electronics

[in] ABS & silicone © 2019 Pololu Corporation



11.8
6.5 [0.46] o 66
Mi ' [0.26] 10.0
r" ]I [0.39]
|

D

@ Isometric view

@ Profile view without tire

Scale 3:4 Scale 3:4

@Front view without tire @Front view with tire @ Front view with tire (actual size)
Scale 3:4 Scale 3:4 Scale 1:1
. https://www.pololu.com/product/1430
A Fits 3 mm D-shaft. Name: Item number:
A Mounting slots fit #2 and M2 screws. Pololu Wheel 80x10mm 1430-1434
A Intended for #4-40 and M3 screws. Drawing date: Dev code: “ P I I
12 September 2019 w3d05a . o o u
4.  To get the specified scale, select 100% in print settings. Units: mm  Material: Robotics & Electronics

[in] ABS & silicone © 2019 Pololu Corporation



11.8
6.5 [0.46]

[0.26] ? [0.26] 10.0

—= ; ' [0.39]

@ Profile view without tire

Scale 3:5

60.09

12.7 —
[0.50]

@Front view without tire

VD

Isometrlc view

Scale 3:5

@Front view with tire

@ Front view with tire (actual size)

Scale 3:5

A Fits 3 mm D-shaft.

A Mounting slots fit #2 and M2 screws.
A Intended for #4-40 and M3 screws.
4

To get the specified scale, select 100% in print settings.

Scale 3:5 Scale 1:1
https://www.pololu.com/product/1435
Name: Item number:

Pololu wheel 90x 10mm 1435-1439

Drawing date: Dev code

12 St;_ptembe.r 2019 w3:dOGa “ POIOIU

Robotics & Electronics
[in] ABS & silicone © 2019 Pololu Corporation

Units:  mm Material:



6.5
[0.26] 10.0
Ll, - l 1{} [0.39]
r‘ T — 1
@ Profile view without tire @ Isometric view
Scale 3:4 Scale 3:4

@ Front view without tire @Back view with tire @ Front view with tire (actual size)
Scale 3:4 Scale 3:4 Scale 1:1
https://www.pololu.com/product/3690
N : It ber:
A Use insert that matches shaft size (3mm round, 3mm ame ) _ em number
Pololu-Multi-Hub Wheel with Inserts 3690, 3691

D-shaft, 4mm round or 4mm D-shaft). for 3mm and 4mm Shafts - 80x10mm

A Mounting slots fit #2 and M2 screws. Drawing date: Dev code: “ P I I
12 September 2019 wheO1la o o u

3. To get the specified scale, select 100% in print settings. Units:  mm Material: Robotics & Electronics
? g NP 9 [in] ABS, silicone, & steel | © 2019 Pololu Corporation



5.0

1 3mm D-Shaft insert 2 4mm D-shaft insert —[0'20]
Scale 3:1 Scale 3:1

[}

JTWT

@Profile view
Scale 3:1

3 3mm round shaft insert 4 4mm round shaft insert
Scale 3:1 Scale 3:1

https://www.pololu.com/product/3690

Name: Item number:
Collet Inserts for Pololu Multi-Hub 3690, 3691
Wheel

Drawing date: Dev code: “ P I I
whe02a, b, ¢, d o o u

12 September 2019 . y
Units: Material: Robotics & Electronics

. o) i .
To get the specified scale, select 100% in print settings. ?m ABS plastic © 2019 Pololu Corporation



13.5

[0.53]
|
|
@Front view
Scale: 2:1
1
— T - - T — '
20 1 1 10
[0.08] [0.04]
@Proile view
Scale: 2:1
https://www.pololu.com/product/3690
Name: Item number:

Collet Plate for Pololu Multi-Hub Wheel 3690, 3691

Drawing date: Dev code: “ P I I
A Metal plate tapped for M3 screws. 12 September 2019 whe03a o o u

2. T t th ifi | lect 100% in print settings. Units: mm | Material: Robotics & Electronics
o get the specified scale, select 100% in print settings [in] galvanized steel © 2019 Pololu Corporation



